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𝑃𝑠,𝑥

𝑡

𝑃𝑠,𝑥+1
𝑡+1

 x = 0,1,2, . . . ,98

𝑃𝑠,𝑥+1
𝑡+1 =

[1 − 0,5 ⋅ (𝑚𝑠,𝑥
𝑡 + 𝑒𝑠,𝑥

𝑡 )] ⋅ 𝑃𝑠,𝑥
𝑡 + 𝐼𝑀𝑠,𝑥

𝑡

[1 + 0,5 ⋅ (𝑚𝑠,𝑥
𝑡 + 𝑒𝑠,𝑥

𝑡 )]
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𝑚𝑠,𝑥
𝑡

𝑒𝑠,𝑥
𝑡

𝐼𝑀𝑠,𝑥
𝑡

– 

𝑚𝑠,−1
𝑡

𝑒𝑠,−1
𝑡

𝐼𝑀𝑠,−1
𝑡

𝑁𝑠
𝑡

𝑁𝑠
𝑡 = 𝑟 ⋅ ∑ (

𝑃𝑀,𝑥
𝑡 + 𝑃𝑀,𝑥+1

𝑡+1

2
) ⋅ 𝑓𝑥

𝑡

49

𝑥=14

𝑃𝑀,𝑥
𝑡 𝑓𝑥

𝑡

 

𝑃𝑠,100+
𝑡+1 =

[1 − 0,5 ⋅ (𝑚𝑠,99+
𝑡 + 𝑒𝑠,99+

𝑡 )] ⋅ (𝑃𝑠,99
𝑡 + 𝑃𝑠,100+

𝑡 ) + 𝐼𝑀𝑠,99+
𝑡

[1 + 0,5 ⋅ (𝑚𝑠,99+
𝑡 + 𝑒𝑠,99+

𝑡 )]

𝑃𝑠,99
𝑡 99

𝑃𝑠,100+
𝑡

𝑚𝑠,99+
𝑡

𝑒𝑠,99+
𝑡

𝐼𝑀𝑠,99+
𝑡

𝐷𝑠,𝑥
𝑡

 𝑥 = 0,1, . . . ,98

 
 )(5,01

)(5,01

1,1,

1,1,1,1

, t

s

t

s

t

s

t

s

t

s

t

st

os
em

IMNem
P
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𝐷𝑠,𝑥
𝑡 = 𝑚𝑠,𝑥

𝑡 ⋅ (
𝑃𝑠,𝑥

𝑡 + 𝑃𝑠,𝑥+1
𝑡+1

2
)

 

𝐷𝑠,−1
𝑡 = 𝑚𝑠,−1

𝑡 ⋅ (
𝑁𝑠

𝑡 + 𝑃𝑠,0
𝑡+1

2
)

𝐷𝑠,−1
𝑡

𝑚𝑠,−1
𝑡

 

𝐷𝑠,99+
𝑡 = 𝑚𝑠,99+

𝑡 ⋅ (
𝑃𝑠,99

𝑡 + 𝑃𝑠,100+
𝑡 + 𝑃𝑠,100+

𝑡+1

2
)

𝑃𝑠,100+
𝑡

𝐷𝑠,99+
𝑡

𝐸𝑠,𝑥
𝑡

 𝑥 = 0,1, . . . ,98

𝐸𝑠,𝑥
𝑡 = 𝑒𝑠,𝑥

𝑡 ⋅ (
𝑃𝑠,𝑥

𝑡 + 𝑃𝑠,𝑥+1
𝑡+1

2
)

 

𝐸𝑠,−1
𝑡 = 𝑒𝑠,−1

𝑡 ⋅ (
𝑁𝑠

𝑡 + 𝑃𝑠,0
𝑡+1

2
)

𝐸𝑠,−1
𝑡

𝑒𝑠,−1
𝑡

 

𝐸𝑠,99+
𝑡 = 𝑒𝑠,99+

𝑡 ⋅ (
𝑃𝑠,99

𝑡 + 𝑃𝑠,100+
𝑡 + 𝑃𝑠,100+

𝑡+1

2
)

𝑃𝑠,100+
𝑡

𝑒𝑠,99+
𝑡
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 𝑥 = 0,1, . . . ,98:

𝑃ℎ,𝑠,𝑥+1
𝑡+1 =

[1 − 0,5 ⋅ (𝑚ℎ,𝑠,𝑥
𝑡 + 𝑒ℎ,𝑠,𝑥

𝑡 )] ⋅ 𝑃ℎ,𝑠,𝑥
𝑡 + 𝐼𝑀ℎ,𝑠,𝑥

𝑡 + ∑ 𝑒𝑖𝑠,𝑥,𝑘,ℎ
𝑡

𝑘≠ℎ ⋅ (
𝑃𝑘,𝑠,𝑥

𝑡 + 𝑃𝑘,𝑠,𝑥+1
𝑡+1

2
) − ∑ 𝑒𝑖𝑠,𝑥,ℎ,𝑘

𝑡
𝑘≠ℎ ⋅ (

𝑃ℎ,𝑠,𝑥
𝑡 + 𝑃ℎ,𝑠,𝑥+1

𝑡+1

2
)

[1 + 0,5 ⋅ (𝑚ℎ,𝑠,𝑥
𝑡 + 𝑒ℎ,𝑠,𝑥

𝑡 )]

𝑚ℎ,𝑠,𝑥
𝑡

𝑒ℎ,𝑠,𝑥
𝑡

𝐼𝑀ℎ,𝑠,𝑥
𝑡

𝑒𝑖𝑠,𝑥,ℎ,𝑘
𝑡

 

𝑃ℎ,𝑠,𝑜
𝑡+1 =

[1 − 0,5 ⋅ (𝑚ℎ,𝑠,−1
𝑡 + 𝑒ℎ,𝑠,−1

𝑡 )] ⋅ 𝑁ℎ,𝑠
𝑡 + 𝐼𝑀ℎ,𝑠,−1

𝑡 + ∑ 𝑒𝑖𝑠,−1,𝑘,ℎ
𝑡

𝑘≠ℎ ⋅ (
𝑁𝑘,𝑠

𝑡 + 𝑃𝑘,𝑠,0
𝑡+1

2
) − ∑ 𝑒𝑖𝑠,−1,ℎ,𝑘

𝑡
𝑘≠ℎ ⋅ (

𝑁ℎ,𝑠
𝑡 + 𝑃ℎ,𝑠,0

𝑡+1

2
)

[1 + 0,5 ⋅ (𝑚ℎ,𝑠,−1
𝑡 + 𝑒ℎ,𝑠,−1

𝑡 )]

𝑚ℎ,𝑠,−1
𝑡

𝑒ℎ,𝑠,−1
𝑡

𝐼𝑀ℎ,𝑠,−1
𝑡

𝑒𝑖𝑠,−1,ℎ,𝑘
𝑡

𝑁ℎ,𝑠
𝑡

𝑁ℎ,𝑠
𝑡 = 𝑟 ⋅ ∑ (

𝑃ℎ,𝑀,𝑥
𝑡 + 𝑃ℎ,𝑀,𝑥+1

𝑡+1

2
) ⋅ 𝑓ℎ,𝑥

𝑡

49

𝑥=14

𝑃ℎ,𝑀,𝑥
𝑡

𝑓ℎ,𝑥
𝑡

 
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𝑃ℎ,𝑠,100+
𝑡+1 =

[1 − 0,5 ⋅ (𝑚ℎ,𝑠,99+
𝑡 + 𝑒ℎ,𝑠,99+

𝑡 )] ⋅ (𝑃ℎ,𝑠,99
𝑡 + 𝑃ℎ,𝑠,100+

𝑡 ) + 𝐼𝑀ℎ,𝑠,99+
𝑡 +

[1 + 0,5 ⋅ (𝑚ℎ,𝑠,99+
𝑡 + 𝑒ℎ,𝑠,99+

𝑡 )]

+

∑ 𝑒𝑖𝑠,99+,𝑘,ℎ
𝑡

𝑘≠ℎ ⋅ (
𝑃𝑘,𝑠,99

𝑡 + 𝑃𝑘,𝑠,100+
𝑡 + 𝑃𝑘,𝑠,100+

𝑡+1

2
) − ∑ 𝑒𝑖𝑠,99+,ℎ,𝑘

𝑡
𝑘≠ℎ ⋅ (

𝑃ℎ,𝑠,99
𝑡 + 𝑃ℎ,𝑠,100+

𝑡 + 𝑃ℎ,𝑠,100+
𝑡+1

2
)

[1 + 0,5 ⋅ (𝑚ℎ,𝑠,99+
𝑡 + 𝑒ℎ,𝑠,99+

𝑡 )]

𝑃ℎ,𝑠,99
𝑡

𝑃ℎ,𝑠,100+
𝑡

𝑚ℎ,𝑠,99+
𝑡

𝑒ℎ,𝑠,99+
𝑡

𝐼𝑀ℎ,𝑠,99+
𝑡

𝑒𝑖𝑠,99+,ℎ,𝑘
𝑡

𝐷𝑠,𝑥
𝑡

 𝑥 = 0,1,2, . . . ,98

𝐷ℎ,𝑠,𝑥
𝑡 = 𝑚ℎ,𝑠,𝑥

𝑡 ⋅ (
𝑃ℎ,𝑠,𝑥

𝑡 + 𝑃ℎ,𝑠,𝑥+1
𝑡+1

2
)

𝑚ℎ,𝑠,𝑥
𝑡

 

𝐷ℎ,𝑠,−1
𝑡 = 𝑚ℎ,𝑠,−1

𝑡 ⋅ (
𝑁ℎ,𝑠

𝑡 + 𝑃ℎ,𝑠,0
𝑡+1

2
)

𝐷ℎ,𝑠,−1
𝑡

𝑚ℎ,𝑠,−1
𝑡

 

𝐷ℎ,𝑠,99+
𝑡 = 𝑚ℎ,𝑠,99+

𝑡 ⋅ (
𝑃ℎ,𝑠,99

𝑡 + 𝑃ℎ,𝑠,100+
𝑡 + 𝑃ℎ,𝑠,100+

𝑡+1

2
)

𝑃ℎ,𝑠,100+
𝑡
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𝐷ℎ,𝑠,99+
𝑡

𝑚ℎ,𝑠,99+
𝑡

𝐸ℎ,𝑠,𝑥
𝑡

 𝑥 = 0,1,2, . . . ,98

𝐸ℎ,𝑠,𝑥
𝑡 = 𝑒ℎ,𝑠,𝑥

𝑡 ⋅ (
𝑃ℎ,𝑠,𝑥

𝑡 + 𝑃ℎ,𝑠,𝑥+1
𝑡+1

2
)

𝑒ℎ,𝑠,𝑥
𝑡

 

𝐸ℎ,𝑠,−1
𝑡 = 𝑒ℎ,𝑠,−1

𝑡 ⋅ (
𝑁ℎ,𝑠

𝑡 + 𝑃ℎ,𝑠,0
𝑡+1

2
)

𝐸ℎ,𝑠,−1
𝑡

𝑒ℎ,𝑠,−1
𝑡

 

𝐸ℎ,𝑠,99+
𝑡 = 𝑒ℎ,𝑠,99+

𝑡 ⋅ (
𝑃ℎ,𝑠,99

𝑡 + 𝑃ℎ,𝑠,100+
𝑡 + 𝑃ℎ,𝑠,100+

𝑡+1

2
)

𝐸ℎ,𝑠,99+
𝑡

𝑒ℎ,𝑠,99+
𝑡
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𝑓(𝑥) = 𝐷(𝛽) ∙ 𝑔(𝑥)

𝐷(𝛽)

𝛽

𝑔(𝑥)

(𝛼, 𝛽) ∫ 𝑔(𝑥)𝑑𝑥 = 1
𝛽

𝛼

𝛼 𝛽

𝑓(𝑥) = 𝐷(𝛽)
1

𝐵(𝑎, 𝑏)

(𝑥 − 𝑎)𝑎−1(𝛽 − 𝑥)𝑏−1

(𝛽 − 𝛼)𝑎+𝑏−1
,    1 < 𝑎 < 𝑏

𝑎 =
[1−𝑚(𝑋)]𝑚2(𝑋)

𝑠2(𝑋)
− 𝑚(𝑋) 𝑏 =

[1−𝑚(𝑋)]2𝑚(𝑋)

𝑠2(𝑋)
− [1 − 𝑚(𝑋)] 𝐷(𝛽) = 𝐼𝐶𝐹

𝛼 = 15 𝛽 = 49 𝑚(𝑋) =
𝐸𝑀𝑀−15

35
𝑠2(𝑋) =

𝑉𝑎𝑟(𝐸𝑀𝑀)

352
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𝐼𝐶�̂�𝑛
𝑡 𝐸𝑀�̂�𝑛

𝑡 𝑉𝑎�̂�(𝐸𝑀�̂�𝑛
𝑡 )

𝐼𝐶�̂�𝑛
𝑡 𝐸𝑀�̂�𝑛

𝑡 𝑉𝑎�̂�(𝐸𝑀�̂�𝑛
𝑡 )

𝐼𝐶�̂�𝑛
𝑡 𝐸𝑀�̂�𝑛

𝑡

𝑓𝑛
𝑡 (𝑥) = 𝐼𝐶�̂�𝑛

𝑡
1

𝐵(𝑎, 𝑏)

(𝑥 − 15)𝑎−1(49 − 𝑥)𝑏−1

(35)𝑎+𝑏−1
,    1 < 𝑎 < 𝑏

𝑎 =
[1−𝑚(𝑋)]𝑚2(𝑋)

𝑠2(𝑋)
− 𝑚(𝑋) 𝑏 =

[1−𝑚(𝑋)]2𝑚(𝑋)

𝑠2(𝑋)
− [1 − 𝑚(𝑋)]

𝑚(𝑋) =
𝐸𝑀�̂�𝑛

𝑡  −15

35
𝑠2(𝑋) =

𝑉𝑎�̂�(𝐸𝑀�̂�𝑛
𝑡 )

352
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𝑓𝑔(𝑡−𝑥),𝑛
𝑡 =

(𝑓𝑥,𝑛
𝑡 +𝑓𝑥+1,𝑛

𝑡 )

2
∀𝑡

𝐼𝐶�̂�𝑝,𝑛
𝑡 = 𝐼𝐶�̂�𝐸𝑠𝑝𝑎ñ𝑎,𝑛

𝑡 ⋅ 𝐷�̂�𝑝,𝑛
𝑡

𝐼𝐶�̂�𝐸𝑠𝑝𝑎ñ𝑎,𝑛
𝑡

𝑡∗

α β
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𝐷𝐹𝑝,𝑛
𝑡∗

=
𝐼𝐶𝐹𝑝,𝑛

𝑡∗

𝐼𝐶𝐹𝐸𝑠𝑝𝑎ñ𝑎,𝑛
𝑡∗

𝐷𝐹𝑝,𝑛
𝑡 = 𝛼𝑝,𝑛 + 𝛽𝑝,𝑛 ⋅ ln(t-aa1) ∀𝑡 = 𝑎𝑎1, … , 𝑎𝑎10

𝐷�̂�𝑝,𝑛
𝑡

𝐷�̂�𝑝,𝑛
𝑡 = �̂�𝑝,𝑛 + �̂�𝑝,𝑛 ⋅ ln(t-aa1) ∀𝑡 > 𝑎𝑎10

𝐼𝐶�̂�𝑝,𝑛
𝑡 = 𝐷�̂�𝑝,𝑛

𝑡 · 𝐼𝐶𝐹𝐸𝑠𝑝𝑎ñ𝑎,𝑛
𝑡 ∀𝑡 > 𝑎𝑎10

𝐸𝑀𝑒𝑀𝑝,𝑛
𝑡

𝐸𝑀𝑒𝑀𝑝,𝑛
𝑡 = 𝛾𝑝,𝑛 + 𝛿𝑝,𝑛 ⋅ ln(t-aa1) ∀𝑡 = 𝑎𝑎1, … , 𝑎𝑎10

 𝐸𝑀𝑒𝑀𝑝,𝑛
𝑡

𝐸𝑀𝑒�̂�𝑝,𝑛
𝑡 = 𝛾𝑝,𝑛 + �̂�𝑝,𝑛 ⋅ ln(t-aa1) ∀𝑡 > 𝑎𝑎10

𝑅𝐼𝑝,𝑛
𝑡

t

http://www.ine.es/metodologia/t20/metodologia_idb.pdf
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𝑅𝐼𝑝,𝑛
𝑡 = 𝜇𝑝,𝑛 + 𝜌𝑝,𝑛 ⋅ ln(t-aa1) ∀𝑡 = 𝑎𝑎1, … , 𝑎𝑎10

𝑅𝐼𝑝,𝑛
𝑡 = �̂�𝑝,𝑛 + �̂�𝑝,𝑛 ⋅ ln(t-aa1) ∀𝑡 > 𝑎𝑎10

𝐻(𝑥) = ∑ 𝑓𝑖
𝑝,𝑛,𝑡𝑥

𝑖=15 𝑓𝑖
𝑝,𝑛,𝑡

𝑇 = 𝐼𝐶𝐹 = ∑ 𝑓𝑖
𝑝,𝑛,𝑡49

𝑖=15 Y(x) = - ln ( ln (x))

𝐻𝑡(𝑥) 𝐻𝑡−1(𝑥)

𝑌(𝐻𝑝,𝑛
𝑡 (𝑥)/𝑇𝑝,𝑛

𝑡 ) = 𝛼𝑡,𝑛 + 𝛽𝑡,𝑛 ⋅ 𝑌(𝐻𝑝,𝑛
𝑡−1(𝑥)/𝑇𝑝,𝑛

𝑡−1)

𝛼 𝛽

𝐻𝑝,𝑛
𝑡 (𝑥) = �̂�𝑝,𝑛

𝑡 ⋅ exp (-exp (−
𝑌 (𝐻p,n

𝑡 (𝑥))

�̂�𝑝,𝑛
𝑡

))
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𝑓𝑥,𝑝,𝑛
𝑡 = 𝐻𝑝,𝑛

𝑡 (𝑥) − 𝐻𝑝,𝑛
𝑡 (𝑥 − 1)

�̂�𝑝,𝑛
𝑡

𝛼 𝛽

�̂�𝑡,𝑛 = 𝑌(0,5) − �̂�𝑡,𝑛 ⋅ 𝑌(𝐻𝑝,𝑛
𝑡−1(𝐸𝑀𝑒�̂�𝑝,𝑛

𝑡 )/𝐼𝐶�̂�𝑝,𝑛
𝑡−1)

�̂�𝑡,𝑛 =
𝑅𝐼𝑝,𝑛

𝑡−1

𝑅𝐼𝑝,𝑛
𝑡

 

http://www.ine.es/metodologia/t20/metodologia_idb.pdf
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𝑞𝑥 =
2 ∗ 𝑚𝑥

2 + 𝑚𝑥
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𝑎𝑥 𝑞𝑥

1. 

𝐿𝑜𝑔𝑖𝑡(𝑒0
𝑡) = (

𝑒0
𝑚𝑎𝑥 − 𝑒0

𝑡

𝑒0
𝑡 − 𝑒0

𝑚𝑖𝑛
)

2. 

𝑒0
𝑚𝑎𝑥 

3. 𝑒0
𝑚𝑖𝑛

4. 𝛼 𝛽

𝐿𝑜𝑔𝑖𝑡(𝑒0
𝑡) =  𝛼 +  𝛽

𝑒0
�̂� = 𝑒0

𝑚𝑖𝑛 + 
𝑒0

𝑚𝑎𝑥 − 𝑒0
𝑚𝑖𝑛

1 + 𝑒𝑥𝑝𝐿𝑜𝑔𝑖𝑡(𝑒0
𝑡)̂

5. 
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Tablas de mortalidad

 

𝑙𝑠,0 = 100.000

𝑥 = 0,1,2, . . .99,100

 

𝑙𝑠,𝑥+1 = (1 − 𝑞𝑠,𝑥) ⋅ 𝑙𝑠,𝑥

 

𝑑𝑠,𝑥 = 𝑙𝑠,𝑥 − 𝑙𝑠,𝑥+1

 

𝐿𝑠,𝑥 = 𝑙𝑠,𝑥+1 + 𝑎𝑠,𝑥 ⋅ 𝑑𝑠,𝑥

𝑥 =
0,1,2, . . .100

𝑚𝑠,𝑔(𝑡) =
𝑙𝑠,0−𝐿𝑠,0
𝑙𝑠,0+𝐿𝑠,0

2

𝑥 = 1,2, . . .99 𝑚𝑠,𝑔(𝑡−𝑥) =
𝐿𝑠,𝑥−𝐿𝑠,𝑥+1
𝐿𝑠,𝑥+𝐿𝑠,𝑥+1

2

𝑚𝑠,𝑔(𝑡−100+) =
𝐿𝑠,99

𝐿𝑠,99+2∙𝐿𝑠,100+

2

 

𝑇𝑠,𝑥 = ∑ 𝐿𝑠,𝑖

100+

𝑖=𝑥

 

𝑒𝑠,𝑥 =
𝑇𝑠,𝑥

𝑙𝑠,𝑥

http://www.ine.es/metodologia/t20/t2020319a.pdf
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http://www.ine.es/metodologia/t20/t2020319a.pdf
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𝑙𝑠,𝑥
𝑃𝑟 𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡) 𝑙𝑠,𝑥

𝐸𝑠𝑝𝑎ñ𝑎
(𝑡) 𝑡

𝐿𝑜𝑔𝑖𝑡 𝑙𝑠,𝑥
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡) =

1

2
 ln (

𝑙𝑠,0
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡) −  𝑙𝑠,𝑥

𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡)

𝑙𝑠,𝑥
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 (𝑡)

)

𝐿𝑜𝑔𝑖𝑡 𝑙𝑠,𝑥
𝐸𝑠𝑝𝑎ñ𝑎(𝑡) =

1

2
 ln (

𝑙𝑠,0
𝐸𝑠𝑝𝑎ñ𝑎(𝑡) − 𝑙𝑠,𝑥

𝐸𝑠𝑝𝑎ñ𝑎(𝑡)

𝑙𝑠,𝑥
𝐸𝑠𝑝𝑎ñ𝑎(𝑡)

)

𝐿𝑜𝑔𝑖𝑡 𝑙𝑠,𝑥
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡) = 𝛼𝑠

𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 + 𝛽𝑠
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 ∙ 𝐿𝑜𝑔𝑖𝑡 𝑙𝑠,𝑥

𝐸𝑠𝑝𝑎ñ𝑎(𝑡)
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�̂�𝑠
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡) = λ𝑠

𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 + 𝜌𝑠
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 ∙ ln(𝑡)

�̂�𝑠
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 (𝑡) = 𝜋𝑠

𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 + 𝜗𝑠
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 ∙ ln(𝑡)

 

𝐿𝑜𝑔𝑖𝑡 𝑙𝑠,𝑥
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡) = �̂�𝑠

𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 + �̂�𝑠
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎 ∙ 𝐿𝑜𝑔𝑖𝑡 𝑙𝑠,𝑥

𝐸𝑠𝑝𝑎ñ𝑎
(𝑡)

 

𝑡

𝑙𝑠,𝑥
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡) =

𝑙0

1 + 𝑒2 ∙ 𝐿𝑜𝑔𝑖𝑡 𝑙𝑠,𝑥
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡)

 𝑙𝑠,𝑥
𝑃𝑟𝑜𝑣𝑖𝑛𝑐𝑖𝑎(𝑡)

– 

𝑑𝑠,𝑥 = 𝑙𝑠,𝑥 − 𝑙𝑠,𝑥+1

 

𝑞𝑠,𝑥 =
𝑑𝑠,𝑥

𝑙𝑠,𝑥

 

http://www.ine.es/metodologia/t20/metodologia_idb.pdf
http://www.ine.es/metodologia/t20/t2020319a.pdf
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𝐹𝑑𝑠,𝑥
𝑡 = 𝛼𝑠,𝑥 + 𝛽𝑠,𝑥 ∙ 𝑙𝑛(  11 aat ) ∀𝑡 = 𝑎𝑎1, … , 𝑎𝑎10

𝑎𝑎1 = 2014, … , 𝑎𝑎10 = 2023

𝛼𝑠,𝑥    𝛽𝑠,𝑥

𝐹�̂�𝑥,𝑠
𝑡

𝐹�̂�𝑠,𝑥
𝑡 = �̂�𝑠,𝑥 + �̂�𝑠,𝑥 ∙ 𝑙𝑛(  11 aat ) ∀𝑡 > 𝑎𝑎10
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http://www.ine.es/dyngs/INEbase/es/operacion.htm?c=Estadistica_C&cid=1254736176953&menu=ultiDatos&idp=1254735572981
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𝑒𝑠,𝑛,𝑥
𝑡 = 𝐼𝑆𝐸𝑠,𝑛

𝑡 · 𝑐𝑠,𝑛,𝑥
𝑡

𝐼𝑆𝐸𝑠,𝑛
𝑡 = ∑ 𝑒𝑠,𝑛,𝑥

𝑡
𝑥

𝑐𝑠,𝑛,𝑥
𝑡 =

𝑒𝑠,𝑛,𝑥
𝑡

∑ 𝑒𝑠,𝑛,𝑥
𝑡

𝑥
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𝐼𝑆𝐸𝑠,𝑛,ℎ
𝑡

𝐼𝑆𝐸𝑠,𝑛
𝑡
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𝐷𝐸𝑠,𝑛,ℎ
𝑡 =

𝐼𝑆𝐸𝑠,𝑛,ℎ
𝑡

𝐼𝑆𝐸𝑠,𝑛
𝑡
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𝑒𝑠,𝑛,𝑥
𝑡

 

𝑐𝑠,𝑛,𝑥
𝑡 =

𝑒𝑠,𝑛,𝑥
𝑡

∑ 𝑒𝑠,𝑛,𝑥
𝑡

𝑥
=

𝑒𝑠,𝑛,𝑥
𝑡

𝐼𝑆𝐸𝑠,𝑛
𝑡
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http://ine.es/dyngs/INEbase/es/operacion.htm?c=Estadistica_C&cid=1254736176953&menu=resultados&idp=1254735572981
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𝑒𝑖𝑠,𝑛,𝑥,ℎ,𝑘
𝑡

𝑒𝑖𝑠,𝑛,𝑥,ℎ,𝑘
𝑡 = 𝐼𝑆𝐸𝑖𝑛𝑡𝑛,ℎ

𝑡 · 𝐷𝐸𝑖𝑛𝑡𝑠,𝑛,ℎ
𝑡 · 𝑐𝑠,𝑛,𝑥,ℎ

𝑡 · 𝑎𝑠,𝑛,𝑥,ℎ,𝑘
𝑡

𝐼𝑆𝐸𝑖𝑛𝑡𝑛,ℎ
𝑡

𝐷𝐸𝑖𝑛𝑡𝑠,𝑛,ℎ
𝑡

𝑐𝑠,𝑛,𝑥,ℎ
𝑡

𝑎𝑠,𝑛,𝑥,ℎ,𝑘
𝑡
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– 

– 

𝐷𝐸𝑖𝑛𝑡𝑠,𝑛,ℎ
𝑡 =

𝐼𝑆𝐸𝑖𝑛𝑡𝑠,𝑛,ℎ
𝑡

𝐼𝑆𝐸𝑖𝑛𝑡𝑛,ℎ
𝑡

 

𝑒𝑖𝑠,𝑛,𝑥,ℎ
𝑡

 

𝑐𝑠,𝑛,𝑥,ℎ
𝑡 =

𝑒𝑖𝑠,𝑛,𝑥,ℎ
𝑡

∑ 𝑒𝑖𝑠,𝑛,𝑥,ℎ
𝑡

𝑥
=

𝑒𝑖𝑠,𝑛,𝑥,ℎ
𝑡

𝐼𝑆𝐸𝑖𝑛𝑡𝑠,𝑛,ℎ
𝑡
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𝑎𝑠,𝑥,ℎ,𝑘
𝑡
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– 
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– 

– 

– 

– 

– 

– 
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http://www.ine.es/metodologia/t20/metodologia_idb.pdf
http://www.ine.es/metodologia/t20/t2020319a.pdf



